55188 HIRIBED A

BifE B SF1074028 288 —7EVE : 500P B JERn
JE A : OUT | IN | GR | HDGP | NET E= 1) B4z K % OUT | IN | GR | HDCP | NET E= HE
Bl hE HR 47 | 46| 93 (24.0 [69.0 5000P:E 51 |BmR =g 50 | 54 | 104 |30.0 |74.0 1500P
EE (fh 39| 40| 79| 9.6 |69.4 4000P-E 52 |fBE 1RHR 41 38| 79| 4.8 |74.2 1500P
3 MEXE BAA 39| 41| 80| 9.6 |70.4 3000P-E 53 |® ®BE 42 | 43| 85(10.8 |74.2 1500P
4 \F E— 43 | 43| 86 |15.6 |70.4 |=FE’VY5H 2500P 54 |BEA  Bsh 44 | 41| 85(10.8 |74.2 1500P
5 |FAER i 54 | 54 | 108 | 37.2 | 70.8 2000P 55 |#HE  FNHL 44 | 47| 91 |16.8 | 74.2 be:gin)
6 |TE &8— 4“1 41| 8 1(10.8 [71.2 2000P 56 |{EfE M 45 | 46 | 91 |16.8 |74.2 1500P
1 g EF 49 | 45| 94 (22.8 [71.2 E—IL 57 |F&K W 48 | 49 | 97 |22.8 |74.2 1500P
8 |k == 44 | 55| 99 |27.6 |71.4 2000P 58 |%H B 50 | 47 | 97 |22.8 |74.2 1500P
9 |BE Al 55 | 49 | 104 [32.4 [71.6 2000P 59 |ATA EX 58 | 51 | 109 |34.8 |74.2 1500P
10 AR %E-— 37| 42 79| 7.2 |71.8 |ZFE’VY5H 500PE 60 (8% A 46 | 44| 90 | 15.6 | 74.4 E—IL
11 |&4 A 40| 39| 79| 7.2 |71.8 1500P 61 |Paf 5P 47 | 49| 96 |21.6 |74.4 1500P
12 | Kl F0E 44 | 41| 85(13.2 |71.8 1500P 62 |BF F 54 | 42| 96 |21.6 |74.4 1500P
13 |ILBE 46 | 45| 91 (19.2 |71.8 1500P 63 |EFlE E 53 | 55 | 108 | 33.6 | 74.4 1500P
14 |25 FHE 48 | 43| 91 [19.2 |[71.8 1500P 64 |HH gE= 44 | 45| 89 |14.4 |74.6 1500P
15 |#21L 38| 40| 78| 6.0 |72.0 |AAMG 4000P - [§E it 65 |REB &A 45 | 44 | 89 |14.4 |74.6 Belt
16 [#AM RHE 52 | 50 | 102 {30.0 | 72.0 |=7E"V14H 2000P 66 |HE EN 46 | 43| 89 |14.4 |74.6 1500P
17 |k BEF 44 | 44| 88 |15.6 |72.4 1500P 67 |fEFHF WX 44 | 38| 82| 7.2 (748 1500P
18 % AE 49 | 45| 94 |21.6 |72.4 1500P 68 | EE #UL 44 | 44 | 88 |13.2 |74.8 1500P
19 k% EX 41 40| 81| 8.4 726 1500P 69 At F— 44 | 44 | 88 |13.2 |74.8 1500P
20 (&0 F 38| 42| 80| 7.2 |72.8 E—IL 70 |BO =8 42| 39| 81| 6.0 750 5000P-E
21 NE B 40 | 40| 80| 7.2 |72.8 |ZFEU17H 2000P n |BtE FE 43 | 44 | 87 |12.0|75.0 4000P-E
22 |l R 41| 39| 80| 7.2 |72.8 1500P 72 @A EE 46 | 41| 87 (12.0 |75.0 3000P-E
23 |gi@A EF 46 | 40 | 86 |13.2 [72.8 1500P 73[Rl Esh 47 | 52| 99 |24.0 |75.0 1500P
24 |BY A= 39| 40| 79| 6.0 [73.0 1500P 74 |EHE EE 48 | 51| 99 [24.0 |75.0 1500P
25 |&HH% IEE 38 | 47| 85(12.0 [73.0 Pe ] 75 | 46 | 46 | 92 |16.8 |75.2 BEET
26 |kfE BEXR 43 | 42| 85(12.0 [73.0 1500P % |BEE wA 48 | 44| 92 16.8 |75.2 1500P
27 |JIgF  RERg 49 | 48| 97 (240 [73.0 1500P 77 |#HE &E 50 | 60 | 110 |34.8 | 75.2 1500P
28 BE EBE= 42 | 42| 84(10.8 |73.2 |4AE 3000P- 78 |RTE FOE 46 | 45| 91 |15.6 |75.4 1500P
29 |ATE B 44 | 40 | 84 (10.8 [73.2 1500P 9 (A2t B 47 | 44| 91 |15.6 |75.4 1500P
0 |thiEk HF 39| 44| 83| 9.6 |73.4 E—IL 80 |EZE & 45 | 52| 97 |21.6 |75.4 E—I
31| KARE #EH 47 | 54 | 101 |27.6 |73.4 1500P 81 |t BF 47 | 50 | 97 |21.6 |75.4 1500P
32 |FHO HE 55 | 52| 107 [33.6 | 73.4 1500P 82 A RIE 49 | 48 | 97 |21.6 | 75.4 1500P
33 |#l 45 | 37| 82| 8.4 |73.6 |ZFEV1TH 2000P 83 |ARHE HEER 52 | 45| 97 |21.6 |75.4 1500P
3 |HE EE 48 | 40 | 88 |14.4 [73.6 1500P 84 |FO 40 | 44| 84| 8.4 |75.6 1500P
3% |HE & 42 | 52| 94 |20.4 |73.6 |ZFEVTH 500P - 3 85 | LK HR—ER 44| 46| 90 [14.4 | 75.6 EE
3% |FE IEM 48 | 46 | 94 (20.4 |73.6 1500P 86 |lLzA 45 | 45| 90 |14.4 |75.6 1500P
3 |hE #HMF 50 | 44 | 94 20.4 |73.6 1500P 87 |f2E HA 47 | 49| 96 20.4 |75.6 1500P
38 B FH 49 | 51 | 100 |26.4 | 73.6 1500P 88 |tHA Z=F 43| 46| 89 |13.2|75.8 1500P
39 |®m OBE— 41 40| 81| 7.2 [73.8 1500P 89 | LKk A 50 | 45| 95 [19.2 |75.8 1500P
4 || ERH 40| 47| 87[13.2 |73.8 E—IL 90 Bk MHE 42 | 46| 88120 |76.0 E—
a /R Eth 44 | 43| 87 (13.2 |73.8 1500P 91 |ER 1EE 42 | 46| 88 |12.0 |76.0 1500P
42 |\ B— 44 | 43| 87 (13.2 |73.8 1500P 92 |EIH X 50 | 44| 94 |18.0 |76.0 1500P
3 \B% EfT 46 | 47| 93(19.2 [73.8 1500P 93 |WT 51 | 49 | 100 | 24.0 |76.0 1500P
4 \RIR B 50 | 49 | 99 [25.2 [73.8 1500P 9 5B == 42 | 51| 93 |16.8 |76.2 1500P
45 |iEE LEA 52 | 47| 99 [25.2 | 73.8 |ZFE"VTH 500P - BT 95 Wl =& 45 | 48 | 93 |16.8 | 76.2 i
46 BB 18 40 | 40| 80| 6.0 |74.0 1500P % |KE 5 46 | 53| 99 |22.8 |76.2 1500P
47 |MIE IEBA 41| 45| 86 (12.0 [74.0 1500P 97 |hEF EA 48 | 44| 92 | 15.6 |76.4 1500P
48 |fFiE HE 42 | 44| 86 |12.0 | 74.0 1500P 98 R Hia 48 | 50 | 98 |21.6 |76.4 1500P
49 \H5E # 44 | 48| 92 (18.0 [74.0 1500P 9 |1 BERE 51| 47| 98 |21.6 |76.4 1500P
50 |HiE ZE 47| 51| 98 (240 [74.0 E—IL 100 | =& BE 51| 47| 98 |21.6 |76.4 E—I
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